
 

 

 

1. Use ANY method to calculate the answers to the following problems. Show all the 

working out. 

 

a. 7 230 - 5 366 =    d. 3 107 - 2 664 =    g.  4 181 - 3 219 =  

7 000 – 5 000 = 2 000  3 000 – 3 000 = 0   4 000 – 3 000 = 1 000 

7 230 - 5 366 =1 864  3 107 - 2 664 = 443    4 181 - 3 219 = 962 

b. 9 671 -  8 147 =    e. 6 472 - 4 485 =    h. 2 374 - 1 658 =  

10 000 – 8 000 = 2 000  6 000 – 4 000 = 2 000  2 000 – 2 000 = 0 

9 671 -  8 147 = 1 524  6 472 - 4 485 = 1 987  2 374 - 1 658 = 716 

c. 2 352 -  1 785 =    f.  7 321 – 6 520 =    i.  9 683 - 7 709 =  

2 000 – 2 000 = 0   7 000 – 7 000 = 0    10 000 – 8 000 =2 000 

2 352 – 1 785 = 567  7 321 – 6 520 = 801    9 683 – 7 709 = 1 974 
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